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Question Number : 1 Question Id : 64635013142 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is a social characteristic of a learner?

(1) Power of sensory perception (2) Thinking ability
(3) Power of synthetic imagination (4) Ability to relate oneself with others
Options:

E45350516599. 1
64535051700, 2



E4535051701. 3
64535051702, 4

Question Number : 1 Question Id : 64635013142 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E45350516599. 1
64535051700, 2
64535051701, 3
64535051702, 4

Question Number : 2 Question Id : 64635013143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which i1s the characteristic of formative evaluation?

(1) Evaluation occurs at the terminal point
(2) Evaluation 1s used before programme design
(3) Evaluation relates to indicating learning outecome of teaching
(4) Evaluation is conducted during teaching
Options:
64535051703, 1
64535051704, 2
E4E35051705. 3
E4E35051706. 4

Question Number : 2 Question Id : 64635013143 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535051702, 1

64535051704 2

64535051705, 3

64535051706, 4

Question Number : 3 Question Id : 64635013144 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Cone of Experience’ related to teaching-learning was suggested by
(1) John Dewey (2) Kilpatrick
(3) Froebel {4) Edgar Dale



Options:

64535051707, 1
64835051708, 2
4535051709 2
64535051710, 4

Question Number : 3 Question Id : 64635013144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4535051707. 1
64535051708, 2
64535051709, 3
64535051710, 4

Question Number : 4 Question Id : 64635013145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The field of study which uses role playing, simulation and self-evaluation as strategies for
adult learners is known as

(1) Pedagogy (2) Andragogy
(3) Anthropology {4) Psychology
Options:

E4E535051711.1
E4E35051712. 2
64535051713, 3
64535051714, 4

Question Number : 4 Question Id : 64635013145 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535051711, 1
64535051712 2
E4E35051713. 3
E4E35051714. 4

Question Number : 5 Question Id : 64635013146 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following is a non-cognitive characteristic of learner?

(1) Recalling {2) Problem solving

(3) Identifying important sensory nputs (4) Believing what is true

Options:
645350517151

E4E35051716. 2
E4E35051717. 3
645350517158, 4

Question Number : 5 Question Id : 64635013146 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350517151
64535051716, 2
64535051717, 3
E4E35051715. 4

Question Number : 6 Question Id : 64635013147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following research formats focusses on hypothesis testing and generalisations?

(1) Experimental and ex-post facto research
i(2) Intervention based action research
(3) Phenomenalogical and narrative research

(4) Case study research

Options:

64835051719, 1
4535051720, 2
64535051721, 5
64535051722, 4

Question Number : 6 Question Id : 64635013147 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
54635051719, 1
CAEZE051720. 2
CAE2E051721. 2
4525051722 4

Question Number : 7 Question Id : 64635013148 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following action sets best represent an action research cvele?

(1) Reflect, act, plan and observe (2) Plan, act, observe and reflect
(3) Observe, plan, reflect and act {4) Act, plan, observe and reflect
Options:

64535051723, 1
64535051724, 2
64535051725 3
EAE3505172E6. 4

Question Number : 7 Question Id : 64635013148 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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: No Display Question Number :

(1)  T=a, Teai=ta, It 3 g (2) Ft=F, AT, s =
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Options:

64635051723, 1
64835051724, 2
64535051725, 5
64535051726 4

Question Number : 8 Question Id : 64635013149 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is the main feature of qualitative research?

] Avolds positivist assumptions and data analysis
(2) Subscribes to pre-existing categories
(3) Collects data in numerical form

(4) Uses empirical method of data analysis

Options:
64535051727, 1
64535051728, 2

: No Display Question Number :
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Yes



E4E35051729. 3
64535051730, 4

Question Number : 8 Question Id : 64635013149 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635051727, 1

64635051728, 2

£4635051729. 3

£4835051730. 4

Question Number : 9 Question Id : 64635013150 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A good review of research literature aims at
] Subjective analysis of the content
(2) Provides information about the authors and thewr affilhations
(3) GGenerates research questions and validating those gquestions
(4) Conducts multiple task based screening

Options:

645350517211

64E35051722. 2

64535051733, 2

64535051734, 4

Question Number : 9 Question Id : 64635013150 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835051731, 1
4535051732 2
64535051722,
64535051734, 4

Question Number : 10 Question Id : 64635013151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A researcher fails to reject the null hypothesis (Ho) in his/her research. What implications
will it carry for his/her principal research hypothesis?

(1) Accepting the research hypothesis
(2) Rejecting the research hypothesis

(3) Not talang any decision on the research hypothesis
(4) Improving the research hypothesis

Options:

645350517351

64535051736 2

E4E35051727. 2

64535051738, 4

Question Number : 10 Question Id : 64635013151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635051735, 1

E4E835051736. 2

64535051737, 5

64535051728, 4

Sub-Section Number : 2
Sub-Section I1d: 646350619
Question Shuffling Allowed : Yes

Question Id : 64635013152 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cesticn Label | Comprehension



Read the following passage and answer guestions:

There 15 a common thread running through the unravelling of India’s statistical
system. A modern economy with sound institutions is characterised by timely dissemination
of credible data. A long term policy needs an empirical basis and issues of veracity of data
will influence investment decisions. In a country with a large population of vouth, data on
national development, especially in core sectors like agriculture, industry, health, education
and employment, will be critical Here comes the role of National Statistical Commission, a
body created to establish standards. Questioning the data veracity is a global phenomenon.
The official narrative is always guestioned by the people on the other side of the fence.
Dissemination of economic data is essential to reach out to the public who lived their reality.
Lack of data will adversely impact the quality of national policies. India must start
strengthening institutions such as the central statistical eommission. These Institutions
must be granted autonomy and insulated from external interferences. Enhanced operational
autonomy will make their work credible. An indicator of operational autonomy is their
ability to stick to a dissemination calendar regardless of what the data indicates.

Sub questions

Question Number : 11 Question Id : 64635013153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is important for a modern economy?

(1) A common thread

(2) Dissemination of credible data
(3) Unravelling of statistical svstem
(4) Selective distribution of data
Options:

64635051739 1

64535051740, 2

64635051741, 3

64535051742, 4

Question Number : 12 Question Id : 64635013154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Investment decisions are impacted by

(1) Youth population (2) National development
(3) Issues of data veracity {4) Establishment of national institutions
Options:

645350517421
64535051744, 2
E4E35051745. 3
E4E3505174E. 4

Question Number : 13 Question Id : 64635013155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the work of National Statistical Commission?

(1) Establishing standards (2) Questioning data veracity
(3) GQuestioning official narrative {4) Supporting the public perception
Options:

E4E35051747. 1



E4E35051748. 2
64535051745, 3
64535051750, 4

Question Number : 14 Question Id : 64635013156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How can the gquality of national policies be improved?

(1) By living reality
(2) By supporting external interferences
(3) By controlling autonomous institutions
(4) By enhanced operational freedom
Options:
E4525051751. 1
E4535051752. 2
64635051753 3
64635051754 4

Question Number : 15 Question Id : 64635013157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What does the passage ultimately suggest to National Statistical Commission?

(1) Restricting policy decisions
(2) Critically examining data veraecity
(3) Stick to a calendar of data dissemination

{4) Support development in core sectors
Options:

64535051755, 1

64535051756, 2

64535051757, 3

64535051758, 4

Question Id : 64635013152 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension
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Sub questions

Question Number : 11 Question Id : 64635013153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
I+ FRTmT + T #7071 7 27
(1) U= gmE fT=n
(2)  TavaEEm ATl = = R =
(3) TSI qUTE 1 TP
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Options:

64835051739, 1
4535051740 2
64535051741, 5
64535051742 4

Question Number : 12 Question Id : 64635013154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) I e (2) WA fa=ry
(3)  Hiwsl =+ HoAal + Hag, (4) TS HETAT I TTE
Options:

64535051743, 1
64535051744, 2
64535051745, 3
E4E3505174E. 4

Question Number : 13 Question Id : 64635013155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TS HITETH AT = F41 F:3 27

(1y A FEiiE w0 (2) ATHS! = Toadl T T4 w1
(3)  ATEHIF 93041 T Hag F0 (4) SEEET S HHAA FAT
Options:

E4E35051747. 1
E4E35051748. 2
64535051745, 3
64535051750, 4

Question Number : 14 Question Id : 64635013156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  =HE TR T F9 F0H
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Options:
E4de35051751. 1
64535051752, 2

E4535051753. 3
E4535051754. 4

Question Number : 15 Question Id : 64635013157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(4)  HF &= ° fawE F qeeE w4
Options:
45235051755 1
64635051756, 2
64635051757 2
64535051755, 4

Sub-Section Number: 3
Sub-Section 1d: 646350620
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635013158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Assertion {(A) : The correlation function of mass media is vital for any society.

Reasons (R) : The mterpretational aspects that include advertising and public relations
shape and influence public opinion.

Choose the correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) {A) is true, but (R) is false

(4) (A) is false, but (R) is true

Options:
4532505175591

E4E35051760. 2
E4535051761. 3
B4E535051762. 4

Question Number : 16 Question Id : 64635013158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64835051759, 1
4535051760, 2
64535051761, o
64535051762, 4

Question Number : 17 Question Id : 64635013159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Some of the barriers to effective communication are

i(a) Polysemy

{b) Simple language

(c) Use of Cliche’s

(d}) Easy construction of sentences

Choose the correct answer from the codes given below :

(1)  (a)and (b) (2) (b) and (¢)
(3)  (c) and (d) (4) (a)and (¢)



Options:

64535051763, 1
64835051764, 2
4535051765 2
64535051766, 4

Question Number : 17 Question Id : 64635013159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a) X (b) (2) () W (c)
(3) ()3T (d) (4) (a) N (o)
Options:

64535051763, 1
64535051764, 2
E4E350517E65. 3
EAE35051766. 4

Question Number : 18 Question Id : 64635013160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, use of communication technology pre-supposes

(1) Inattentive audience
(2) Luxurious amblence
{3) Extrapolation of contents
(4) New forms of expression and applications
Options:
E4E25051767. 1
EAE25051768. 2
E4535051769. 2
64535051770 4

Question Number : 18 Question Id : 64635013160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4835051767, 1
64535051768, 2
64535051769, o
64535051770, 4

Question Number : 19 Question Id : 64635013161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a classroom, content produced for a specific user will lead to

(1) personality development (2) content filtering
(3) personalisation {4) general academic integration
Options:

E4535051771.1
6435051772 2
64535051773, 3
64535051774, 4

Question Number : 19 Question Id : 64635013161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
w41 4 TR fafime warea = fau a6 7 fawasg =1 giomy g
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Options:

64535051771, 1
EAEZ5051772. 2
E4E35051773. 3
64535051774, 4

Question Number : 20 Question Id : 64635013162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The sequential order of elements in classroom communication is

(1) knowledge, interest, evaluation, awareness
(2) awareness, interest, evaluation, knowledge
(3) evaluation, awareness, knowledge, interest

(4) interest, knowledge, evaluation, awareness

Options:



E4E35051775. 1
64535051776, 2
64535051777, 3
64535051778, 4

Question Number : 20 Question Id : 64635013162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(3) AT, ANTEFA, T, B

(4) 4, TH, TEATEA, TIEED
Options:
64635051775, 1
435051776, 2
64635051777, 5
64535051778, 4

Question Number : 21 Question Id : 64635013163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the missing term out of the following :
JAK, KBL, LCM, MDN,

(1) OEP (2) NEO
(3) MEN (4) PFQ
Options:

6453505177591
64535051780, 2
64535051781, 3
E4E35051782. 4

Question Number : 21 Question Id : 64635013163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FtatEd § 5 Jega T
JAK, KBL, LCM, MDN,

(1)  OEP (2) NEO
(3) MEN (4) PEQ
Options:

645350517791
64535051780, 2
64535051781, 3
EAE35051782. 4



Question Number : 22 Question Id : 64635013164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the numhber 34axy is divisible by 90, then (x + 1) =7

(1) g (2) 8
) I (4) 6
Options:

E4E35051783. 1
E4535051784. 2
64535051785, 3
64535051786, 4

Question Number : 22 Question Id : 64635013164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Ife & 346¢y 90U =2 %, A (x+ y) =7

i1y B (2) 8
(3) 7 4) 6
Options:

E4E35051783. 1
E4535051784. 2
64535051785, 3
64535051786, 4

Question Number : 23 Question Id : 64635013165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
On a map, 1inch represents 250 miles. What is the actual distance between two cities if they

are 4% inches apart on the map?

(1) 1100 miles (2) 1125 miles
(3) 1150 miles (4) 1200 miles
Options:

64535051787, 1
64535051788, 2
E4E35051789. 3
E4E35051730. 4

Question Number : 23 Question Id : 64635013165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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ST Wi o ATl g T

(1) 1100 = (2) 1125w
(3) 1150 (4) 12007
Options:

64535051787, 1
64535051788, 2
64535051789, 3
E4E35051730. 4

Question Number : 24 Question Id : 64635013166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If 60% of (a—b)=40% of (a+b), then what percent of @ is b?

(1) 20% (2) 25%
(3) 40% (4) 50%
Options:

645350517591, 1
64535051732, 2
64535051733, 3
E4E350517394. 4

Question Number : 24 Question Id : 64635013166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e (a—b) F 60%=40% = (a+b) &, d a 1 b T Hia=d gm ?

(1) 20% {2) 25%
(3) 40% (4) 50%
Options:

645350517391, 1
64535051732, 2
E4E350517393. 3
E4E350517394. 4

Question Number : 25 Question Id : 64635013167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What will be the ratio of simple interest earned by certain amount at the same rate of
mterest for 8 years and that for 12 years?

(1) 3:4 2y 23
(3) 4:3 (4) Data inadeqguate
Options:

64535051755, 1



E4E350517396. 2
64535051737, 3
64535051738, 4

Question Number : 25 Question Id : 64635013167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FRET 0T8T 70 9 99 #1279 =k TofU U JHTE =471 &1 ° ATeid HrgTo s47] I FI97d F47 i 7

() a4 (%5 23
(3) 4:3 (4) FATHE AT 3
Options:

64535051735, 1
64535051736, 2
E4E35051737. 3
E4E3505173958. 4

Question Number : 26 Question Id : 64635013168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘All Judges are fairminded’ is an example of proposition.

(1) Universal affirmative (2) TUniversal negative

(3) Particular affirmative (4) Particular negative
Options:

E4E35051795. 1
E4E35051800. 2
64535051801, =
6453505180Z2. 4

Question Number : 26 Question Id : 64635013168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘gt =TT vy g o T FEE B

(1) ==y b8y (2) T Ty

(3) AtaTee e (4) Tafime Frg
Options:

E4535051799. 1
64535051800, 2
64535051801, 2
E453505180Z2. 4

Question Number : 27 Question Id : 64635013169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following arguments ‘the relation that exists between premises and
conclusion is that of logical necessity™?

(1) Inductive (2) Deductive
(3) Demonstrative (4) Analogical
Options:

E4E35051803. 1
E4E35051804. 2
64535051805, 3
64535051806, 4

Question Number : 27 Question Id : 64635013169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fetatiad oA Tieaai § “aaR 999 A1 ke & 9§19 5 994 g ¢ 9% alled A-Erddr 1 g 8

(1)  FFEATES (2) A=
()  TEEAEE (4) HIETIAF
Options:

E4E35051803. 1
E4E35051804. 2
E4535051805. 3
64535051806, 4

Question Number : 28 Question Id : 64635013170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre. E is to the left
of D. Cis between A and B. F is between E and A. Who is to the right of C?

(1) A (2) B
(3 D (4 E
Options:

64535051807, 1
64535051808, 2
64535051809, 3
E4EZ5051810. 4

Question Number : 28 Question Id : 64635013170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FEAA B,C.D,EAN FUag a0 § &z ol AL 4@ gU A2 E, D H ardff A3 C, A dR =+
fFHF 2 FEFNAFTIHE 2 CF gl AL FAR?

1) A (2) B
(3 D (4) E
Options:

64535051807, 1
E4E35051808. 2



E4E35051803. 3
64535051810, 4

Question Number : 29 Question Id : 64635013171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Inference (anumana) in Indian Logic is rooted in

(1) variable relation between minor term and major term

(2) mmvariable relation between middle term and minor term

(3) variable concomitance between middle term and major term

(4) mvariable concomitance between middle term and major term
Options:

E4E35051811. 1
E4E35051812. 2
E4535051813. 3
64535051814, 4

Question Number : 29 Question Id : 64635013171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AT FohEE § A 1 0d 7

(1) T 9% AN 0T 75 = &9 TiEd 99y
(2) TRl T8 I e & #g ATEG a9
(3) WISl U5 A EA UL o "= TiE) dgaidd
(4) TG Tg AN 0BT TE S A9Ed St
Options:
646535051511, 1
646350518512 2

64535051813, 3
64535051814, 4

Question Number : 30 Question Id : 64635013172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A B C D, EandF are six members in a family in which there are two married couples.
E, a teacher is married to the doctor who 1s the mother of C and F. B, the layer 15 married to
A A has one son and one grandson. Of the two married ladies one 1s a housewife. There 15
also one student and one male engineer in the family. How is A related to C?

(1) Grandfather {2) DMlother
(3) Sister (4) Grandmother
Options:

E4535051815. 1
64535051816, 2
64535051817, 3
645350518158, 4



Question Number : 30 Question Id : 64635013172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

% TER § A, B, C, D, E 3 F =: 9257 £ fomd & 3t femfeg <0t #1 E = o fonges 2, =71 fomme
SHAHEM A CANFARA MU BA AR F A AT g2 AF F T AN 3 2| &
feaTrEa ATgenaT O | U U1 7| TN 5 U i o T S S o 21 A CH 347 599 7 ¢

(1) &g (2) =@
(3 T (4) =T
Options:

E4E535051815. 1
E4535051816. 2
64535051817, 3
645350518158, 4

Sub-Section Number: 4
Sub-Section 1d: 646350621
Question Shuffling Allowed : Yes

Question Id : 64635013173 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label @ Comprehension

Consider the following table that shows the distribution of students in two sections Aand Bin a
school aceording to the marks obtained by them. There 15 a total of 45 students in each of the
sections A and B. Answer the guestions based on the data contained in the table :

Marks obtained by students

Marks MNumber of students in
in class interval Section — A Section — B

[0-9] 2 4

[10 — 19] 5] 3]

[20 - 29] 10 g

[30 — 39] 4 4

[40 — 49] 8 7

[0 - 59] 4 5

[60 — 69] T 5

[T0 — 79] 5] 5

Sub questions

Question Number : 31 Question Id : 64635013174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If the pass mark 15 30, what 15 the number of failures in both the sections together?

(1) 43 2y 35
(3) 16 4) 26
Options:

E4E5350518149. 1
E4E35051820. 2
64535051821, 3
64535051822, 4



Question Number : 32 Question Id : 64635013175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the pass mark i1s 40, approximately what is the percentage of successful students mn
Section — B?

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

E4E35051823. 1
E4E35051824. 2
64535051825, 3
64535051826, 4

Question Number : 33 Question Id : 64635013176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many students in Section — A and Seection — B together have obtained marks less
than 107

(1) 10 (2 11
(3) 12 4 6
Options:

64535051827, 1
64535051828, 2
64535051829, 3
E4E35051830. 4

Question Number : 34 Question Id : 64635013177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many students in Section — A have obtained 30 or more marks but less than 507

(1) 12 (2) 14
(3) 10 4y 13
Options:

64535051831, 1
64535051832, 2
E4E35051833. 3
E4E35051824. 4

Question Number : 35 Question Id : 64635013178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

How many students in Section — A and Section — B have obtained 50 or more than 50 marks?

(1) 23 (2) 43
(3) 32 (4) 34
Options:

E4E35051835. 1



E4E35051836. 2
64535051837, 3
64535051838, 4

Question Id : 64635013173 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label - Comprehension

fepAferfire arfers =1 fermfelat =1 Wrea #(=! & FER fa=rea § 2 #a A A B H faanfeii % faam =
297 3| el H9EH A A B 0 F 45 Tl 8| arfersn § fEu T sl % angn w weEi 1 39 den)

Ty TR s EEE
T fgv. A S B

[0 - 9] 2 4
[10 - 19] 5 5
[20-29] 10 9
[30 - 39] 4 4
[40 — 49] 8 7
[50 — 59] 4 5
[60 — 69] 7 5
[70 - 79] 5 6

Sub questions

Question Number : 31 Question Id : 64635013174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T, FAOF 30 B, T S WAl § Ao fernfea i w5 we e 20

(1) 43 (2) 35
(3) 16 (4) 26
Options:

E4535051819. 1
64535051820, 2
64535051821, 3
64535051822, 4

Question Number : 32 Question Id : 64635013175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ITe, IHTF 40 3 HFEH B O IH9 B TTel il s 9iase o TR 77

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

64535051823, 1
64535051824, 2
64535051825, 3
64535051826, 4



Question Number : 33 Question Id : 64635013176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
O - A 31 O9F - B 24 o T faenferai 3 10 9 =59 &= 3 TRt

(1) 10 (2) 11
(3) 12 4) 6
Options:

64535051827, 1
64535051828, 2
E4E35051829. 3
E4E35051820. 4

Question Number : 34 Question Id : 64635013177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o7 - A H TR fer=nielai = 30 71 Wit 1= g 50 & 9 o+ Wied U 37

(1) 12 (2) 14
(3) 10 4y 13
Options:

E4E35051821. 1
E4E35051832. 2
64535051833, 3
64535051824, 4

Question Number : 35 Question Id : 64635013178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
O9FH - A 31T 9999 - B O Tood Toafelat 9 50 77 50 ° 19 37 Wred TeFu?

(1) 23 (2) 43
(3) 32 4) 34
Options:

64535051835, 1
E4E35051836. 2
E4E35051837. 3
64535051838, 4

Sub-Section Number: 5
Sub-Section Id: 646350622
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635013179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



While sending an e-mail, to differentiate among To : , Ce: and Bee : fields, which one of the
following statements is True?

(1) Recipients in the To : field can see the email addresses that are in the Bee : and Ce:

fields

(2) Recipients in the Ce : field can see the email addresses that are in the To - and Bee:
fields

(3) Recipients in the Bee : field can see the email addresses that are in the To : and Ce:
fields

i4) Only the recipients in the Ce : field can see the other email addresses in the Bee : field

Options:

4535051839, 1
64535051840, 2
64535051841, =
64535051842 4

Question Number : 36 Question Id : 64635013179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U S 0o 99d 509 To -, Ce : 31T Bee : Fivel § 19498 %3 & 9949 O (iaraiiad 5= § ® HE-97 951
27

(1) To:ﬁﬁﬁmﬁee:ﬁﬂe:fﬁﬁﬁﬁﬁ@mﬁﬂﬁﬂﬁiﬁmgl
(2) Cec : %ies § Wreawdl To : 3 Bee : Fiesl d Ta=m= Ha 741 =1 <@ 954 &
(3) Bee - Fieg § Wtashal To : 31T Ce - Fiesi § =@ 309 791 1 <@ T4 7
(4) Cec : e § S Wtasdl Bee : %lesl § A3 20 T4l 1 4@ Td 2|
Options:

E45350518359. 1

64535051840 2

646350518341 =2

E4AB35051342 4

Question Number : 37 Question Id : 64635013180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A group’s access to digital technology and ancther group’s lack of access to it, will cause a
disparity known as

(1) Internet inequality (2) Web inequality
(3) Technological imbalance {4) Digital divide
Options:

64535051843, 1
64535051844, 2
64535051845, 3
E4E3505184E. 4

Question Number : 37 Question Id : 64635013180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U HHE I TEfsee Wi i Sremad A gEt g i e Agestd | S fauwdar s g 5
71 =l 2

(1) ST FEAT (2) F= FEEHA
(3) iR aEaed (4) Tefaea faar=m
Options:

64535051843, 1
64535051844, 2
64535051845, 3
E4E3505184E. 4

Question Number : 38 Question Id : 64635013181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In internet terminology, what does the acronym WYSIWYG stand for?

(1) Why You Saw Is What You Got (2) What You See Is What You Get
(3) Where You See Is Where You Got (4) What You See Is What You Got
Options:

645350515847 1

646350518348 2

64835051349 =2

E4E825051850. 4

Question Number : 38 Question Id : 64635013181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T TICATTo TReraet | T 6 WYSIWYG %1 3=f gran 37

(1) ==L A T e LM (2) =eLH WmELR
(3) TEAL L A LM (4) =L H WEEZ L
Options:

E4E35051847. 1
64535051848, 2
64535051849, 3
64535051850, 4

Question Number : 39 Question Id : 64635013182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Software that vou can download for free, but have to pay to continue its use after a trial
period 1= called

(1) public domain software (2) freeware
(3) open-source software {4) shareware
Options:

E4E35051851. 1
E4535051852. 2



E4535051853. 3
54535051854, 4

Question Number : 39 Question Id : 64635013182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HivearT, f A9 F3les eredie 1 Hd 3, g gra9 =iy = 9=, 36 W S T % T
ATTH FTAH F T8 7, TIH Fa44 3

(1)  TEaF SHA FFeEIL (2) WA
(3)  AH-HE TiFET (4) IEEE
Options:

64535051851, 1
64535051852, 2
E4E35051853. 3
EAE35051854. 4

Question Number : 40 Question Id : 64635013183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following computer components 1s fastest in terms of speed of access?

(1) USE Drive (2) Solid State Drive
i AT ard Ihsk Drive

3) RAW (4) Hard Disk Dn
Options:

E4E35051855. 1
E4535051856. 2
64535051857, 3
64535051858, 4

Question Number : 40 Question Id : 64635013183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
et et Hazhl o | FH-31 5= I T = 3 H HgeE ga gt

(1) L uHH g (2) Hifas T2 IrA
(3) W (IMuW) (4) = fomr gr=
Options:

E4535051855. 1
64535051856, 2
64535051857, 3
64535051858, 4

Question Number : 41 Question Id : 64635013184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



One of the main outcomes of the Rio +20 conference was to develop a set of

(1) Sustainable Development Goals (2) Millennium Development Goals
(3) National Development Strategy (4) National Land Restoration Strategy
Options:

E4535051859. 1
64535051860, 2
64535051861, 3
64535051862, 4

Question Number : 41 Question Id : 64635013184 Question Type: MCQ Option Shuffling

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

frafl +20 HH@A 1 TF T0 T T 90=a9 1 5 &6 97

(1)  TEE fFwm 98 (2) TEETE: fawrg @
(3)  TSEF TRy T (4) T g T T
Options:

645350518549, 1
64535051860, 2
E4E35051861. 3
E4E35051862. 4

: No Display Question Number : Yes

Question Number : 42 Question Id : 64635013185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The time frame for the implementation of Millennium Development Goals was,

(1) 2000 — 20035 (2) 2000 -2015
(3) 2005 — 2010 (4) 2000 -2012
Options:

64535051862, 1
E4E35051864. 2
E4535051865. 3
E4535051866. 4

Question Number : 42 Question Id : 64635013185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

AEHIES FHHE TE o+ FA = I -HE R

(1) 2000 — 2005 (2) 2000 - 2015
(3) 2005 — 2010 (4) 2010 - 2020
Options:

B4535051863. 1
64535051864, 2
64535051865, 3
E4E3505186E. 4



Question Number : 43 Question Id : 64635013186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The duration for which of the usable compost generation is 3—6 months?

(1) Vermi composting (2} Semi-Automatic waste converter
(3) Pit composting (4) Automatic waste converter
Options:

64535051867, 1
64535051868, 2
64535051869, 3
E4EZ5051870. 4

Question Number : 43 Question Id : 64635013186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FeratEa 5 8 o 3TEmmarg e, e = a9y 3-6 918 = 5 B

(1) = e (2) HAF-TTNAd 998 FUEdF
(3) e $onieen (4) TE=ErAd 94 GUiEd®
Options:

64535051867, 1
64535051868, 2
E4E35051869. 3
EAE35051870. 4

Question Number : 44 Question Id : 64635013187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Oligotrophic lakes are characterized by

(1) High level of nutrients (2) Low level of nutrients
(3) Absence of nutrients (4) High level of organic matter
Options:

64535051871, 1
64535051872, 2
E4E35051873. 3
E4E35051874. 4

Question Number : 44 Question Id : 64635013187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 9= # I T (2) TEH F 7 o1
(3) g F AYE (4) e TEET 1 3= T
Options:

64535051871, 1
64535051872, 2
E4E35051873. 3



EAE35051874. 4

Question Number : 45 Question Id : 64635013188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

With increase in temperature, the dissolved oxygen content in a water body

(1) decreases
(2) increases
(3) remsain constant

(4) may increase or decrease depending on the temperature range

Options:

64535051875, 1
64535051876, 2
4835051877, 2
4535051878 4

Question Number : 45 Question Id : 64635013188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AT | g * 9= 79 g ° et Aifaeeq 19

(1) =z
(2) H@ed
(3) TERTETE

(4)  AIHE TIE F ATHE g2 I g 2
Options:
64635051875, 1
64635051876, 2
64635051877, 3
64635051878 4

Question Number : 46 Question Id : 64635013189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The econstitution of India provides right to establish educational institutions of their choice
by all minorities as per

(1) Article 30(1) (2)  Article 29
(3) Article 33 (4)  Article 16(2)
Options:

64535051879, 1
64535051880, 2
E4E35051881. 2
E4E35051882. 4

Question Number : 46 Question Id : 64635013189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



O 1 TS AT9E=TH g 7 748 5 o 9= =g 7 o AT 5 39 A 2

(1) 3= 30(1) (2) T 29
(3)  Ig=e 33 (4) IF=T 16(2)
Options:

E4E35051875. 1
64535051880, 2
64535051881, 2
64535051882, 4

Question Number : 47 Question Id : 64635013190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SWAYAM refers to
(1) Study World of Action-Learning for Young Aspiring Minds
(2) Study Webs of Active-Learning for Young Aspiring Minds
(3) Student World of Action-Learning for Young Ailing Minds
(4) Study Webs of Active-Learning for Youth Awareness hModels

Options:

E4525051885. 1

64535051884, 2

64535051885 2

64835051386, 4

Question Number : 47 Question Id : 64635013190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

WA AR T (F) F I T

(1) T2 T8 ATF UFEH-AT B 17 T ATEEd
(2)  TZE 959 ATF U -1 FIL 47 TEITITET AT5-5H
(3)  TZErZ dve ATH UFEH-AI- FIL T TRl HT358
(4)  TZE =A=H AR UFed-H- HIL I8 AT HI5-5H
Options:

648350518831

E4E35051554. 2

E4E35051885. 3
E4E35051886. 4

Question Number : 48 Question Id : 64635013191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is an educational FM radio network?

(1) Gyan Darshan {2) Gyan Vani
i3} Gyan Dhara (4} GIAN
Options:

E4E35051887. 1
64535051888, 2



E4E35051889. 3
64535051830, 4

Question Number : 48 Question Id : 64635013191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) FHAZIA (2) T =TI
(3) FHEW (4) St AT
Options:

64535051887, 1
64535051888, 2
E4E35051889. 3
E4E35051830. 4

Question Number : 49 Question Id : 64635013192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following reports addressed the academiec, technical and administrative
problems of the examination system?

(1) Report on standards of the Educational System (1965)
(2) Report of University Education Commission (1948-49)
(3) Sargent Report (1944)
(4) Hartog Committee report (1929)

Options:

E4E8250515891. 1

E4B25051892. 2

E45350518593. =

645350518594 4

Question Number : 49 Question Id : 64635013192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Tt TEa Sidaedt O ® Tora Tiran yomedt =ht Stgiies, a-rd 1 Wemai- Gaeal = g fwan ?

(1) T 14 Tr28d A% & THd 952 (1965)
(2)  TOOrE ATE IS THTH FHEE (1948-49)
(3)  Hraiee fOre (1944)
(4)  Frem Fd o (1929)
Options:
64635051891, 1
64635051892, 2

E45350518393. 3
E4E350518594. 4

Question Number : 50 Question Id : 64635013193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

During which wvear the present syvstem of affiliation of colleges to the Universities was
imtroduced in India?

(1) 1857 (2) 1948
(3) 1928 (4) 1966
Options:

E45350518595. 1
64535051836, 2
645350518387, 3
645350518358, 4

Question Number : 50 Question Id : 64635013193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T | metterarerd i favafaaradl § gwEga i 990 v a9 e g

(1) 1857 (2) 1848
(3) 1928 (4) 1966
Options:

645350518595, 1
64535051836, 2
64535051837, 3
E4E350518395. 4

PART II Museology and Conservation

Section Id : 646350329

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 94

Number of Questionsto be attempted: 94

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350623
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635013194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following is an example of organic cultural property?
1. Bhimbetka Paintings
2. Didargan Yakshi
3. Danecing Girl

4. Chamba Rumal

Options:

64635051899, 1
E4E35051900. 2
645350513901, 5
64535051902, 4

Question Number : 51 Question Id : 64635013194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
4535051599, 1

E4E35051900. 2
E4535051901. 2
54535051902, 4

Question Number : 52 Question Id : 64635013195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s a man-made cause of deterioration of cultural property?

1.  Earthquake
2 Flood
3 Arson

i Biodeterioration

Options:
4525051902 1



E4E35051904. 2
64535051905, 3
64535051906, 4

Question Number : 52 Question Id : 64635013195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4635051903, 1
64535051904, 2
645350519305, =
64535051306, 4

Question Number : 53 Question Id : 64635013196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

With reference to museums, ‘IPM’ stands for

1.  Internal Postal Management
2. Integrated pest Management
3.  Ideal Preventive Management

4.  Implementable Process Management

Options:

64835051907, 1
4535051908, 2
64535051909, 5
64535051910 4

Question Number : 53 Question Id : 64635013196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535051907, 1
64835051908, 2
E4E35051909. 2
64535051910, 4

Question Number : 54 Question Id : 64635013197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following gases 1s usually NOT considered a pollutant for museum
objects?

—

Sulphur dioxide
2. Hydrogen sulphide
3.  Ozone

4, Carbon dioxide

Options:

64535051911, 1
64835051912 2
E4E35051912. 2
64535051914, 4

Question Number : 54 Question Id : 64635013197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535051911, 1
64535051912, 2
64835051912 =
4535051914 4

Question Number : 55 Question Id : 64635013198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Veil 1s an important part of which of the following paintings?

1.  Pichhwai
2. Thangka
3.  Patchitra
4. Phad

Options:

64635051915, 1
64535051916, 2
645350519317, 2
64835051918 4

Question Number : 55 Question Id : 64635013198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. fusas
2. Y@l
3. ughA
4. ®g

Options:

48350519151
4535051916, 2
64535051917, 5
64535051918, 4

Question Number : 56 Question Id : 64635013199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Abbreviation ‘CRI” denotes
1.  Colour Reducing Index
2. Colour Rendering Index
3.  Colour Reflecting Index

4.  Colour Refracting Index

Options:

64535051919, 1
64535051920 2
64535051921, 2
64535051322, 4

Question Number : 56 Question Id : 64635013199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535051919, 1
64835051920 2
E4E35051921. 2
64535051922, 4

Question Number : 57 Question Id : 64635013200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following corrosion products is likely to be seen on a corroded copper
artifact?

| [ Azurite
2. Whewellite
3. Magnetite

4. Sidente
Options:
645350519221
64535051924 2
64535051925 3
64535051926, 4

Question Number : 57 Question Id : 64635013200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Hend dle @) Hareia & SR Fofaied & 3 SH-91 GeRu-3dre 361 o S 82
e
2. e
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Options:

64535051923, 1
645350519324, 2
64535051325 2
4835051926 4

p—

Question Number : 58 Question Id : 64635013201 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



With which cultural property is the term “Warli” associated?
1.  Oil painfings
2. Rock paintings
3.  Wall painfings
4. Minature paintings

Options:
4350514927,

1
E4E35051925. 2
E4E35051929. 3
64535051920, 4

Question Number : 58 Question Id : 64635013201 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T e # 2 g sieeide dua @ S9iE @2

1. dafe=
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3. eI
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Options:

64535051927, 1
64535051928, 2
64535051929, 2
64835051920 4

Question Number : 59 Question Id : 64635013202 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Constitution of India’ is stored in a sealed chamber filled with nitrogen gas as it

o)

neufralizes the effect of acidity
2. creates anoxic conditions
3.  reduces the effect of light radiations

4.  absorbs excessive humidity



Options:

64535051931, 1
64835051932 2
4535051922 2
64535051924, 4

Question Number : 59 Question Id : 64635013202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘YR BT R o 19 9 1R §U §¢ IR | uftd 8 Fiie Tgre 19
1. o Bl st o 8
2. SfferiioT AR ATETERT HeH B &
3. Yo fafeeul & gHE & HH Sl 5
4. I TEA B NG T &

Options:

64535051931, 1
64535051932, 2
64835051922 2
4535051924 4

Question Number : 60 Question Id : 64635013203 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the range of colour temperature exhibited by metal halide lamps commonly
used in museums?

1. 1800-2900 K
2. 29003400 K
3. 43005000 K

4. 65008000 K
Options:
645350519351
E4E35051926. 2
64535051937, 3
64535051938, 4

Question Number : 60 Question Id : 64635013203 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. 1800-2900 K
2. 29003400 K
3. 4300-5000 K

4. 6500-8000 K

Options:
E4E350514935,

1
E4E35051936. 2
E4E35051937. 3
54535051928, 4

Question Number : 61 Question Id : 64635013204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Old films usually show a characteristic odour reminiscent of

l. Garlic

2. Rottenegg

3 Lemon

4.  Vinegar

Options:

64535051939, 1
64535051340, 2
64835051941, =2
E4E35051942. 4

Question Number : 61 Question Id : 64635013204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
453505149359 1

E4E35051940. 2
E4E35051941. 3
E4E3505194%. 4

Question Number : 62 Question Id : 64635013205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following instruments is used as a diagnostic tool in conservation?
1. Hotspatula

2. Vacuum table

3 Leaf caster

4,  X-ray
Options:
E45235051943 1
64535051944 2
64635051945 =
64350515946, 4

Question Number : 62 Question Id : 64635013205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4. w3

Options:

64535051943, 1
64535051944 2
64835051945 =2
4535051946, 4

Question Number : 63 Question Id : 64635013206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Nitrocellulose adhesive can theoretically be used for joining
1.  marble sculpture
2.  terracotta
3.  broken glass
4. panel paintings

Options:

64635051947, 1

64635051948, 2

64535051949, 3
645350513950, 4

Question Number : 63 Question Id : 64635013206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535051947, 1
64835051948 2
E4E35051949 =2
64535051950, 4

Question Number : 64 Question Id : 64635013207 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
‘LASER’ techmque 1s commonly used in conservation. What is the full form of
‘LASER’?
1.  Light Amplitude of Sttmulated Ermssion of Radiation
2. Light Amplified Stimulated Emitted Radiation
3.  Light Amplified by Stimulated Emission of Radiation

4. Light Amplification of Stimulated Emission of Radiation

Options:

64635051951, 1
64835051952 2
4535051952, 5
64535051954, 4

Question Number : 64 Question Id : 64635013207 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘W (LASER) %1% &1 SUART ATHIIA: W& A a1 s g1 ‘8o’ (LASER) ST
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Options:

64535051951, 1
64535051352, 2
64835051952 =2
E4E35051954 4

Question Number : 65 Question Id : 64635013208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is the cause of ‘Glass Disease’?
1.  Solubilization of complex salts

2. Dissolution of insoluble salts

3.  Formation of deliquescent salts

4. Precipitation of chelating agents
Options:
64635051955, 1
64635051956, 2
64635051957, 3
64635051958, 4

Question Number : 65 Question Id : 64635013208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4. Rrtn Rl o1 s@gom

Options:

64535051955, 1
64535051956, 2
64535051357, 2
64535051958 4

Question Number : 66 Question Id : 64635013209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s NOT a mineral pigment?

1. Lazwardi
2. Lac

3. Kharia
4. Ramraj

Options:

64535051959, 1
64535051360, 2
64835051961, 2
4535051962, 4

Question Number : 66 Question Id : 64635013209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Profrfad 8 4 Si-91 fime o () 98 22

2. W™
3. "fsar
4. TS

Options:

64535051959, 1
64535051960 2
64535051961, =
64535051362, 4

Question Number : 67 Question Id : 64635013210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Inpainting carried out in a canvas painting belongs to which of the following categories
of conservation?

1.  Preventive conservation
2. Remedial conservation
3.  Restorative conservation

4.  Curative conservation

Options:

64535051963, 1
64535051964, 2
64535051365, 2
4835051966 4

Question Number : 67 Question Id : 64635013210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535051963, 1
64535051964, 2
64535051365, 2
4835051966 4

Question Number : 68 Question Id : 64635013211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s an example of restoration?
1.  Inpainting
2. Consolidation
3.  Disinfestation

4.  Desalination

Options:
4535051967, 1

E4E35051965. 2
E4E35051969. 3
64535051970, 4

Question Number : 68 Question Id : 64635013211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535051967, 1
64535051368, 2
E4E35051969. 2
64535051970, 4

Question Number : 69 Question Id : 64635013212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Sodium sesquicarbonate 1s used in the conservation of

1. aluminium
2. silica

3. iron

4. copper

Options:

64835051971, 1
4535051972 2
64535051972, 5
64535051974, 4

Question Number : 69 Question Id : 64635013212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535051971, 1
64535051972, 2
64835051972 2
4535051974 4

Question Number : 70 Question Id : 64635013213 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the full form of PEG, used for conservation of water-logged wood?

-

Polyethylene glucose

2. Polyethylene glass

H

Polyethylene glycol

4.  Polyethylene glyceride

Options:

4635051975, 1
64535051976, 2
64535051977, 2
64535051378, 4

Question Number : 70 Question Id : 64635013213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4635051975, 1
64535051976, 2
64535051977, 2
64535051378, 4

Question Number : 71 Question Id : 64635013214 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the purpose of relining a canvas painting?
1. Reinforcing
2. Consolidation
3. Cleaning

4. Mending

Options:

64635051979, 1
64535051980, 2
64535051981, =
64835051982 4

Question Number : 71 Question Id : 64635013214 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535051979, 1
64535051380, 2
64835051981, 2
4535051982 4

Question Number : 72 Question Id : 64635013215 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following gases 1s used to create anoxic conditions in an anoxicator?

1. Oxygen
2. Chlorine
3.  Nitrogen
4.  Hydrogen

Options:

64635051983, 1
648350519284, 2
E4535051985. 5
64535051986, 4

Question Number : 72 Question Id : 64635013215 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635051983, 1
64535051984, 2
64535051985 =
6453505193586, 4

Question Number : 73 Question Id : 64635013216 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A museum should NOT encourage
1.  workshops
2. special exhibitions
3.  artcamps

4. political debates

Options:

64635051987, 1
64835051988, 2
45350519589, 5
64535051990 4

Question Number : 73 Question Id : 64635013216 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options

64535051987, 1
E4E3505198E. 2
E4E35051989. 3
E4E35051930. 4

Question Number : 74 Question Id : 64635013217 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following is effective in creating immersive visualization ?
I. Augmented Reality

I1. Virtual Reality

Select the correct option
1. Tonly
2. Ilonly
3. IandIlboth

4.  neither I and II

Options:

64535051991, 1
648350519392, 2
E4E35051992. 2
64535051994, 4

Question Number : 74 Question Id : 64635013217 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535051991, 1
648350519392, 2
64535051992, 5
64535051994, 4

Question Number : 75 Question Id : 64635013218 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Some of the leading people responsible for paving way for the setting up of the
National Museum, India are

1.  John Marshall and Lord Curzon
2. James Princep and Sir Maurice Gwyer
3. Alexander Cunmngham and John Marshall

4, Mortimer Wheeler and John Marshall

Options:

64535051995, 1
64535051996, 2
645350519397, 2
64535051998 4

Question Number : 75 Question Id : 64635013218 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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India’s first international biosphere reserve is
1.  Nanda Devi National Park and Biosphere Reserve
2. Sundarban Biosphere Reserve
3. Simulipal Biosphere Reserve

4. Nilgin Biosphere Reserve

Options:

E4E3505149599. 1
64535052000, 2
64535052001, 5
64535052002, 4
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Marketing and Public Relations are
1.  Interdependent
2. Complementary
3.  Supplementary

4.  Interfering

Options:

64535052003, 1
64535052004, 2
E4E35052005. 2
4535052006, 4
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Significant contribution for the establishment of Site Museums in India was by
1. Robert Kyd
2. Mortimer Wheeler
3. William Jones

4. John Marshall

Options:

64535052007, 1
E4E35052008. 2
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64535052010, 4

Question Number : 78 Question Id : 64635013221 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

YR H e SUeradi o W01 § Ayl arTer faee ur?

1. Ys<fos
2.  HIFARER
3. fafees Sikg
4. i ARG

Options:
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The contextual Model of Learning suggests that learning 1s influenced by three
overlapping contexts

1.  Personal, Social and Linguistic
2. Personal, Social and Economic
3.  Personal, Sociocultural and Physical

4. Personal, Social and Emotional

Options:

64635052011, 1
64535052012, 2
64535052013 2
E4E35052014. 4
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In the recent natural and manmade disasters, the museums in India which have suffered
huge losses are

1. Government Museum, Chennai and National Museum, Delhi
2.  NGMA and NMNH
3. Sri Pratap Singh Museum, Srinagar and NMNH

4.  National Museum and NGMA
Options:
£4635052015. 1
£4635052016. 2
£4635052017. 3
£4635052018. 4
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‘End Lighting’ 1s a type of
1. source of natural light

2. source of artificial light

g

mixed lighting

=

focusing material

Options:
E4E35052019. 1

E4E35052020. 2
EAE35052021. 3
EAEZS052022. 4

Question Number : 81 Question Id : 64635013224 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘qUg i foum! TR &2
. URpia® Tar &1 |
2. SRS S Ed
3. faisdvem

4. Figd B el ag (AREa)

Options:
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Smaranika 1s a museum of
1.  History of Railways in India
2. History of Trams in Kolkata

3.  History of Rickshaw in Kolkata

4. History of Books in India

Options:

64535052023, 1
64535052024, 2
64535052025, =
4835052026, 4
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Question Number : 83 Question Id : 64635013226 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The British Museum in 1753 soon became strong in collections of
1.  Archaeology, Antiquities, Natural History and Ethnography
2. Archaeology, Zoology and Botany
3.  Fine Arts and Ethnography

4. Natural History, Arts and Science

Options:
435052027, 1

EAE35052028. 2
EAE35052029. 3
E4E35052030. 4
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Which of the following 1s NOT a key element of visitors” survey during segmenting the
museun market?

1.  Visitors® age
2. Visitors’ nationality and ethnic background
3. Visitors’ police verification report

4. WVisitors® views

Options:

4535052031, 1
64535052032, 2
64535052033 2
64535052034, 4

Question Number : 84 Question Id : 64635013227 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FofiiEd o 3 Smige Tdeiv &1 HH-91 §87 d@ & 3o THE U0 & Teler § 781 82
1. HNig®! Bt MY
2. TSI B UFEAT AR HEE SR SS9 gge
3. SMig® Bt ey wirg Roie
4. migSl & fER @ e

Options:
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Question Number : 85 Question Id : 64635013228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



National Couneil of Science Museums originated out of
1.  Council of Scientific and Industrial Research
2. National Physical Laboratory
3.  Birla Institute of Technological and Science

4. Burla Industnal and Technological Museum

Options:
64535052035, 1

EAEZ5052036. 2
EAE35052037. 3
E4E535052028. 4
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“TQM’ 1s an approach to long term success through
1. Financial stability
2. Customer Satisfaction
3.  Motivation of employees

4. Partnerships

Options:

64835052039, 1
E4E35052040. 2
64535052041, 5
64535052042, 4
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The British Museum, London in its collection has which one of the following?
1.  Rosetta Stone
2. Code of Hammurabi
3.  Nefertiti

4. Dancing Girl

Options:

64535052043, 1
64535052044, 2
64535052045 =
4835052046, 4
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The First Director of National Gallery of Modermn Art, New Delhi was
1.  Grace Motley
2 Hermann Goetz
3. Mortimer Wheeler

4: John Marshall

Options:

64535052047, 1
64535052048, 2
64535052049 =
64835052050 4
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64535052050 4
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The Salar Jung Museumn, Hyderabad was taken over by the Government of India in

1. 1938
2. 1958
3. 1960
4. 1961

Options:
64535052051, 1

E4E35052052. 2
EAE35052053. 3
EAE35052054. 4
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In which year was the term “Museography’ first used?

L. 1792
R
3. 1683
4. 1883

Options:

64835052055, 1
4535052056, 2
64535052057, 2
64535052058, 4
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“The Museum International” is the
1.  Journal edited by the ICOM since 1948
2. Monography released by the MAI in 1944
3.  Theme song composed by the Paris Commune in 1871

4. Journal of the British Museum

Options:

64635052059, 1
64535052060, 2
64535052061, =
4835052062 4
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Financial Management of a museum includes

]

housekeeping
2. revenue-generating activities
3.  supervising maintenance staff

4. interpretation of objects

Options:

64535052063, 1
E4E35052064. 2
4535052085, 2
4535052066, 4
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64535052064, 2
64535052065, 2
E4E35052066. 4

Question Number : 93 Question Id : 64635013236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In case of a disaster in museum what is the correct order of priority of safeguarding?
1.  People, objects, building
2. Objects, documents, building
3. Objects, building, people

4. Objects, people, documents

Options:

64535052067, 1
64535052068, 2
64835052069 2
4535052070, 4
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In a museum gallery, the learning environments for the children aged four to seven (4-
7 vears need NOT include

—

activity stations for working with clay and crayons
2. films and videos
3.  digital mediums

4. lecture halls

Options:
E4E35052071. 1

EABE3S052072. 2
EAE35052073. 3
BAE35052074. 4
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There is a transition in Museum World towards

=2

Neighbourhood Museums
2. Private Museums
3. Community Museums

4, Science Museums
Options:
64635052075, 1
64635052076, 2
64635052077, 3
64635052078, 4
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Question Number : 96 Question Id : 64635013239 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following i1s NOT a correct statement?

L.

a.

Options:

EAEZS052073,
EAE35052080.
BAE35052081.
E453505208%,

Question Number

The design of the gallery should be planned according to the nature of the
collection.

The spectral range of light does affect the appearance of objects in the
exhibition gallery.

Ease of circulation of visitors 1s a must in the exhibition area.
The illumination level should not exceed 50 lux in all the exhibition areas.

1
2
>
4
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In which year was the first public museum established?

1. 1883
2. 1683
3. 1648
4. 1814

Options:
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The first Director of the National Council of Science Museum was
1.  Saroj Ghose
2. Samar Bagchi
3.  Amalendu Bose

4. V. P. Ben

Options:
E4E35052057. 1

EAEZ5052088. 2
E4E35052089. 3
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Thermoluminescence method 1s used for dating objects of

—

leather
2 terracotta
3. metal

4. wood

Options:

45350520491, 1
64535052092, 2
64535052092 5
64535052094, 4
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Which public museum amongst the following was the first to start guide programme for
visitors?

1. The British Museum
2.  The Louvre
3. Victoria and Albert Museum

4. Smithsonian Institution

Options:

64835052095, 1
4535052096, 2
64535052097, 5
4535052098, 4
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The book, The Manual of Museum Management 1s authored by
1. Alexander, E. P.
2. Anderson, A. R
3. Lord G. D. and Lord Barry

4. Hooper-Greenhill, Eilean

Options:

64535052099, 1
64835052100, 2
64535052101, 5
64535052102, 4
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Which of the following prescribes ethical gumidelines for various functions of Museums?
1.  Key Concepts of Museology
2. ICOM Code of Ethics
3. Studies in Museology

4.  ICCROM Gudelines
Options:
64535052103 1
E4525052104. 2
E4525052105. 3
64535052106 4
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Correct Marks: 2 Wrong Marks: 0
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Options:

64535052103, 1
64835052104, 2
4535052105, 5
64535052106, 4
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Question Number : 103 Question Id : 64635013246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Pedestal and stands are generally used for exhibiting
1. coins and stamps
2. jewellery
3. sculpture and similar free standing large objects

4. mumature paintings

Options:

64535052107, 1
E4E35052108. 2
&4535052109. 5
64535052110, 4

Question Number : 103 Question Id : 64635013246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835052107, 1
4535052108, 2
64535052109, 5
64535052110, 4

Question Number : 104 Question Id : 64635013247 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The standard viewing height in a museum 1s
1. 1 metre
2. 1.25 metres

3. 1.5 metres

4. 1.6 metres

Options:

645350521111
64535052112, 2
64535052112
64535052114, 4

Question Number : 104 Question Id : 64635013247 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TS YUETEd H Q& B A S 1 87
1. 1#R
2. 125HR
3. 15HR
4. 1.6HX
Options:

E4E535052111.1
E4E35052112. 2
64535052113, 3
64535052114, 4

Question Number : 105 Question 1d : 64635013248 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Scientific adviser to the Great Exhibition of 1851 was
i Hans Sloane

2. Nathaniel Wallich
3.  Charles Babbage

4. Wilhham Roxburgh

Options:
645350521151

E4E35052116. 2
E4E35052117. 3
64535052118, 4

Question Number : 105 Question Id : 64635013248 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535052115, 1
64535052116, 2
64535052117, 2
64535052118, 4

Question Number : 106 Question 1d : 64635013249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Summative Evaluation’ in a museum is done
1. after the exhibition is installed and it becomes open to public
2. dunng the installation of an exhibition
3.  before an exhibition 1s conceptualised

4. throughout the installation of an exhibition

Options:

4835052119, 1
4535052120 2
64535052121,
4535052122, 4

Question Number : 106 Question Id : 64635013249 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635052119, 1
64535052120 2
64535052121, 2
E4E35052122. 4

Question Number : 107 Question Id : 64635013250 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following events led to the foundation of Victoria and Albert Museum,
London?

1.  Unification of Germany
2. French Revolution
3. [ World War

4. Great Exhibition of 1851

Options:

64635052123, 1
64835052124, 2
E4E35052125. 2
64535052126, 4

Question Number : 107 Question Id : 64635013250 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635052123, 1
64535052124, 2
64535052125, 2
64535052126, 4

Question Number : 108 Question 1d : 64635013251 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The term *“Interpretation’ in museum’s functions denotes
1.  scholarly experience for scholars and students
2. educational experiences for school children, fammlies and adults
3.  guided tours for all

4.  educational experience of special groups

Options:
45350521271

E4E35052128. 2
E4E35052129. 3
64535052120, 4

Question Number : 108 Question Id : 64635013251 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535052127, 1
64535052128, 2
64535052129, 2
648350521204
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Question Number : 109 Question Id : 64635013252 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) : Circulating Exhibitions are Temporary Exhibitions but not all
Temporary Exhibitions are Circulatory Exhibitions.

Reason (R) : Circulating Exhibitions return back to the place of origin after a series
of Temporary Exhibitions at a pre-fixed circulatory path.

Select the correct answer
1. Both(A)and (R) are right
2. Both (A)and (R) are wrong
3. (A)isright but (R) is wrong

4. (A)1s wrong but (R)1s right

Options:

64835052131,
4835052132,
64535052133,
64535052134,

[

Question Number : 109 Question Id : 64635013252 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535052131, 1
64535052132 2
64835052122 2
4535052124 4



Question Number : 110 Question Id : 64635013253 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Under which Section of Treasure Trove Act, 1878 can the finder who conceals the
treasure be imprisoned?

1.  Section 51(A)
2. Section 4
3.  Section 2(1)

4. Section 111

Options:

64535052135, 1
64535052136 2
4535052127, 2
4535052128, 4

Question Number : 110 Question Id : 64635013253 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. IR/ 51(A)
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Options:

645350521351
64535052136, 2
64535052137, 2
64535052138, 4

Question Number : 111 Question 1d : 64635013254 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



[UCN keeps record of
1.  endangered ammals and plants
2. extinct animals and plants

3.  endemuc animals and plants

4. All of the above

Options:

648350521391
E4E35052140. 2
64535052141, 5
4535052142 4

Question Number : 111 Question Id : 64635013254 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535052139, 1
64535052140, 2
64535052141, =2
64835052142 4

Question Number : 112 Question Id : 64635013255 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Audience Research shows that attracting and retaining audiences is crucial for
museums for this reason, museums should NOT

1. demonstrate that the museumn provides value added services
2. encourage auction
3. perform systematic research to identify non-visitors

4. establish quality publications and websites

Options:

64535052143, 1
64535052144 2
64535052145 =
4835052146 4

Question Number : 112 Question Id : 64635013255 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535052143, 1
64535052144 2
64835052145 =2
64535052146, 4

Question Number : 113 Question Id : 64635013256 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



India’s only Naval Aviation Museum is located in

1.  Karnataka
2. Kerala

3.  Tamil Nadu
4. Goa

Options:

64535052147, 1
64535052148, 2
64835052149 =2
E4E35052150. 4

Question Number : 113 Question Id : 64635013256 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835052147, 1
4535052148, 2
64535052149, 5
64535052150, 4

Question Number : 114 Question Id : 64635013257 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In a tripartite accession number like 1/2/19, meaning of different digits is

1. the first digit is the object number, the second digit is part of the object
number and third digit is the lot number

2. the first digit 1s the object number, the second digit 1s the lot number and
the third digit denotes part of the object

3. the first digit is the lot number, the second digit is the object number in the
lot and the thard digit 1s the year number

4. the first digit 1s the first object, the second digit 1s the second object and
third digit is the year number

Options:

64635052151, 1
64835052152 2
E4E35052152. 2
64535052154, 4

Question Number : 114 Question Id : 64635013257 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

af 1/2/19 T TRIURTTSE Va8 FaR ¢, A1 590! Vs S©T1 &1 3 ot 87

1. UYH GO o] o1 983, GO ST a5 & SR & HI $ ©U A ¢ 3R d e
@ic Fue 2

2. UYH T I H1 AN B, Gl 9O dic AR 8, SR diesl 9 a5 & Wi 9
Tad B

3. gyH 9O dic S 8, gudl Se dic A 8 a5 @l Fe 8, ded) Sem o &l
A 2|

4. UYH TSI VYA 95 &I SdIdl €, GO T gEY) 9% &1 gardl § SR drdl gem
Ty @I Faw gl

Options:

64635052151, 1
64535052152 2
64535052153 2
64535052154 4

Question Number : 115 Question 1d : 64635013258 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Museum at Alexandra was founded by

jr—

Ptolemy Soter
2. Arnstotle
3.  Cosimo de Medici

4.  John Tredescant

Options:

64635052155, 1
64535052156, 2
64535052157, 2
64835052158 4

Question Number : 115 Question 1d : 64635013258 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35052155. 1
E4535052156. 2
E4535052157. 3
64535052158, 4

Question Number : 116 Question Id : 64635013259 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Application of the “Persons with Disabilities Act, 1995 in museums is essential for
providing

1. access for all
2. facilities for the disabled
3.  special services for the disabled

4. separate exhibition for the disabled

Options:



E4E35052159.
B4535052160.
E4535052161.
64535052162,

[ N N

Question Number : 116 Question Id : 64635013259 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535052159, 1
64535052160 2
64835052161, 2
4535052162, 4

Question Number : 117 Question Id : 64635013260 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—I with List—II :

List—I List-II
(a) Deacidification (1) Waterlogged wood
(b) Patina removal (11) Archival material
(¢) Freeze-drying (1) Sandstone sculptures
(d) Desalination (iv) Bronze sculptures

Choose the correct option from those given below :
L. (@)-); (b)—(id); (¢)-(iv); (d)—(i)
2. (a-(v); (B)-(b); (e)-(ii); (A1)
3. (@), (b)) (¢)-); (D-Gv)
4. (a)-); (b)—av); (¢)-(); (d)-(m)

Options:
64535052163, 1



E4E35052164. 2
64535052165, 3
E4E535052166. 4

Question Number : 117 Question 1d : 64635013260 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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1. (a)y-(1);, (b)-in); (e)1v); (d)-(ii)
2. (a)-(v); (b)-(u); (c)—(ui); (A1)
3. (a)y(ui), (b)-1); (c)1); (d)-1v)
4. (a)-(i); (b)—(1v); (c)—(1); (d)—(1i1)
Options:

E4E35052163. 1
E4E35052164. 2
64535052165, 3
E4E535052166. 4

Question Number : 118 Question 1d : 64635013261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Match List—I with List—II :

List-I List-II
(a) Palm leaf (1) Cnzzhing
(b) Silver (11) Loss of flexibility
(c) Glass (i) Yellowing
(d) Ivory (1v) Tarnishing

Choose the correct option from those given below :
L. (a)-); (b)(v); (c)-); (d)—(m)
2. (a)-); (b)yHw); (¢)—(ur); (d—av)
3. (ay(v); (b)), (¢)-(i); (D—1)
4. (a)-(ui); (b)-Q); (c)-(wv); (d)—11)

Options:

64535052167,
4835052168,
4635052169,
4535052170,

o LIRS

Question Number : 118 Question Id : 64635013261 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (@) (b)-Qv); (¢)-Q); (d)1)
2. (a-Q); ()-w); (o)-u); (d)-av)
3. (a)-(v); (b)—(in); (c)—(i1); (d)1)
4. (a)-(w); (0)-Q); (e){iv); (D)1

Options:

4535052167, 1
64535052168, 2
64535052169 2
64535052170, 4

Question Number : 119 Question 1d : 64635013262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II ;

List—I List-II

(a) Lisa C. Roberts (1) A good museum attracts, entertains,

arouses curiosity, leads to questioning
and thus promotes learning

(b) John Cotton Dana  (i1) The history of educational theory is
marked by opposition between the idea
that [learning] is development from
within and that is formation from without

(¢c) John Dewey (111) Exhibits and the space in which visitors
move around must be planned together
(d) Lehmbruck (iv) Exhibitionis by its very nature an

interpretive act

Choose the correct option from those given below :
L. (@)-); (0)—v); (e)-1); (d)-(im)
2. (a)-(v); ()1 () (d)iii)
3. (a)-(ii); (b1); (-v); (D)
4. (a)-(); (b)-(u); (e)—u); (A)-(v)
Options:
64635052171, 1
64635052172, 2

64535052173, 3
E4E35052174. 4

Question Number : 119 Question Id : 64635013262 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (a)-Qu); (b)-v); (¢)-(1); (d)-(11)
2. (a)-(v); (b)-1); (e)-(i); (d)-(ir)
3. (a)-(m), (b)-); (e)-(v), (A1)
4. (a)-Q); - (¢)-1); (d)-av)

Options:

64535052171, 1
64535052172 2
4535052172 2
64535052174, 4

Question Number : 120 Question Id : 64635013263 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List=II ;

List-I List—II
(Books) (Authors)
(a) The Museum Environment (i)  H. J. Planderleith and
AE.A. Werner
(by Care and Preservation of Museum Objects (ii)  Victoria Oakley and
Kamal K. Jain
(¢) The Conservation of Antiquities and (iii)  Garry Thomson
Works of Art—Treatment, Repair and
Restoration
(dy Essentials in the care and Conservation of (iv)  Om Prakash Agarwal
Historical Ceramic Objects

Choose the correct option from those given below :

L. (a0 (b)-u); ()~w); (d—1v)

2. () (1) (e)iv); (d)(iid)

3. (a)-(u); (b-av); (e)-); (d)—u1)

4. (a)-(v); (b)-(); (c)-ui); (d)—1)
Options:
64635052175,
64635052176,

BAE35052177.
64535052178,

[ N I

Question Number : 120 Question 1d : 64635013263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (a)(1); (b)-ii); (¢)—-(u); (d)-(v)
2. (a)y(u); (b)~1); (c)-v); (d)(iun)
3. (a)-(ui); (b)-(v); (c)—(1); (d)—(ii)
4. (a)-(v); (b)—(1); (e)—-(u1); (A1)

Options:

64535052175, 1
64535052176, 2
64535052177, 2
4535052178, 4

Question Number : 121 Question Id : 64635013264 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Asserfion (A) : Newspaper reports seem to indicate that Taj Mahal 1s turning yellow.

Reason (R) : [Itis because of large number of visitors.

Choose one of the following options:

[

(A) 1s wrong, but (R) 1s right

e

(A) 1s right, but (R) 1s wrong
3.  Both(A)and (R) are right

4. Both (A) and (R) are wrong



Options:

64535052179, 1
64835052180 2
4535052181, 2
64535052182, 4

Question Number : 121 Question Id : 64635013264 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535052179, 1
64535052180 2
64535052181, =
645350521382, 4

Question Number : 122 Question 1d : 64635013265 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Assertion (A) : Treatment of leather puppets usually requires application of oil.

Reason (R) : il protects the puppets from the effects of fluctuation in temperature
and humidity.

Choose one of the following options:
L: (A) 1s wrong, but (R) is right
2. (A)1snght, but (R)1s wrong
3. Both(A)and (R) are right

4.  Both (A) and (R) are wrong

Options:



E4E35052183. 1
64535052184, 2
64535052185, 3
64535052186, 4

Question Number : 122 Question 1d : 64635013265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
E4E35052153.

E4E35052184.
EAE35052185.
EAE35052186.
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Question Number : 123 Question Id : 64635013266 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Assertion (A) : pH is defined as negative logarithm of hydrogen ion concentration.

Reason(R) : pH has no umt.

Choose one of the following options:

-

(A) 1s wrong, but (R) 1s night

2. (A)isright, but (R) is wrong

47

Both (A) and (R) are right

=

Both (A) and (R) are wrong

Options:



E4E35052187. 1
64535052188, 2
64535052189, 3
64535052130, 4

Question Number : 123 Question 1d : 64635013266 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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2. (W)FRE R TEAE
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4. TEH((A) MR (R) T B

Options:

E4E35052157.
4535052188,
64535052189,
64535052190,
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Question Number : 124 Question Id : 64635013267 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A) : While each “Museum’ has something to offer to some people, what
they offer 1s neither the same nor of interest or value to all.

Reason (R) : Museum (collection) means different things to different people.
Choose one of the following options:

1. Both(A)and (R) are nght

2.  Both (A)and (R) are wrong

3. (A)isrnight but (R) 1s wrong

4. (A)1s wrong but (R)1s right

Options:
64635052191, 1



EAE350521392. 2
64535052183, 3
64535052154, 4

Question Number : 124 Question 1d : 64635013267 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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L (A)RER) ITFTE

2. (A)R(R) IFT e &

3. (A)WEE WYR) TR

4. (A)TEaE, W (R) W

Options:

4835052191, 1
E4E35052192. 2
64535052192, 5
64535052194, 4

Question Number : 125 Question Id : 64635013268 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Catalogues are very important scienfific documents in collection
management.

Reason(R) : Catalogues give complete information on particular object or set of
objects to satisfy academic queries.

Choose one of the following options:
1. Both (A)and (R) are nght
2. Both(A)and (R) are wrong
3. (A)isright but (R) is wrong

4. (A)is wrong but (R) is right

Options:



E4E35052195.
B4535052196.
64535052197,
645350521398,

[ N N

Question Number : 125 Question 1d : 64635013268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535052195, 1
64535052196, 2
64535052197, 2
64535052198, 4

Question Number : 126 Question 1d : 64635013269 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A) : Collections are the foundation of everything that takes place in
museums, libraries and archives.

Reason (R) : There can be no museumn without collection.
Choose one of the following options:

1. Both(A)and (R) are nght

2. Both(A)and (R) are wrong

3.  (A)is right but (R) is wrong

4. (A)is wrong but (R 1s night

Options:



E4E35052199.
BA535052200,
64535052201,
E453505220%.
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Question Number : 126 Question Id : 64635013269 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
42350521499, 1

E4E35052200. 2
64535052201, 3
BAE3505220%. 4

Question Number : 127 Question 1d : 64635013270 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Assertion (A) :  Every museum of worth does have different categories of publication
for different categories of visitors.

Reason (R) : Publication constitutes a good publicity material which 1s
academically valuable.

Choose one of the following options:

jr—

Both (A) and (R) are wrong
2.  Both (A)and (R) are night
3.  (A)is wrong but (R)1s night

4. (A)is nght but (R) 1s wrong

Options:



EAE35052203.
BA535052204,
64535052205,
64535052206,

[ N N

Question Number : 127 Question Id : 64635013270 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
E4AE2E052202. 1

EAE35052204. 2
E4E35052205. 3
BAE35052206. 4

Question Number : 128 Question 1d : 64635013271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which of the following steps are a part of curative conservation of a stone sculpture?
(a) Cleaning
(b} Consolidation
(¢) Removal of Salts
(d) Dasplayin Museum
Choose one of the following options :
1. (a),(d
2. (b,©
3. (@), (), ()
4. (b),(c), (D

Options:

64535052207, 1
64535052208, 2
64535052209, 2
E4E35052210. 4

Question Number : 128 Question Id : 64635013271 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) BB

(b) DTS
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el IR B T Do ;
1. (a),(d)
2. (0.

3. (a),(b),(c)
4. (b),(c).(d

Options:

64535052207, 1
64535052208, 2
64835052209 2
4535052210, 4

Question Number : 129 Question Id : 64635013272 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are indicators of a professionally managed museum storage?
(a) No objectis to be found on the floor.

(b) Retneval of an object should not take more than 5 minutes.

(¢) Only accessioned objects are present in storage.

(d) Air-conditioning is operational in storage for at least 6 hours a day.

Choose one of the following options :

[

(a), (¢), (d)
2. (a)(D)(c)
3. (),(c), (@
4. (d),(),(c), (b)

Options:

4635052211, 1
64535052212 2
64535052213 2
64535052214 4

Question Number : 129 Question 1d : 64635013272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. (a), (), (d)
2. (a)(b)(e)
3. (®)(c), @
4. (d),(a), (c), (&)
Options:
casasomants

64535052212, 3
EAEZ5052214. 4

Question Number : 130 Question Id : 64635013273 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II :

List—I List—II
(Resins) (Category)
(a) Paraloid B72 (1) Polymethylmethacrylate
(b) Araldite (11) Nitrocellulose
(¢) Duco cement (i11) Epoxy
(d) Elvacite (iv) Acrylic

Choose the correct option from those given below :
L (a)-(); (B)~v); (0)-D); (d)iii)
2. (a)-(i); (b)(iD); (0)-(v); (1)
3. (@)-(); (b)ii); (0)(ii); (d)-iv)
4. (@-1v); ()-0); (o)iid); (d)-i)

Options:

E4E35052215.
4835052216,
4535052217,
64535052218,

[

Question Number : 130 Question Id : 64635013273 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L (), (0)-v); (0)-(1); (d)(iii)
2. (a)Hii); (b)-Gi); (@-@v); (D)
3. (aH); (b)) (e)~(1); (d)-av)
4. (@-v); (0)-); (o)), (d)—(1)

Options:

64635052215, 1
4535052216, 2
64535052217, 5
64535052218, 4

Question Number : 131 Question Id : 64635013274 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Preventive conservation in a museum can be implemented by
(a) Conservator
(b) Security staff
(¢c) Curator
(d) Director
Choose one of the following options :
. {al
(a), (b)
3. (@, ()
4. (a), (1), (0,

[

Options:

4535052219 1
64535052220, 2
64535052221, 2
64535052222, 4

Question Number : 131 Question 1d : 64635013274 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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2. (a2,
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4. (a), (b), (c), (d)

Options:

64535052219, 1
64535052220 2
64535052221, 2
E4E35052222. 4

Question Number : 132 Question Id : 64635013275 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange 1n order the following steps involved in the conservation of a fragile historic
structure :

(a) Documentation

(b) Laboratory tests

(c) Conservation treatment

(d) Emergency measures

Which of following is true?
1. (a), (d), (b), (0
2. (a), (), (), (D
3. (a),(d),(c), (b
4. (d),(c), (b), (@

Options:

4835052222, 1
64535052224, 2
64535052225, 5
64535052226, 4

Question Number : 132 Question Id : 64635013275 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. (a), (@), (b), (¢)
2. (a),(b)(c) (@
3. (a),(d), () (b)

4. (d), (e), (b), (a)
Options:
64535052223,
E4AE3E052224,
64535052225,
64535052226,

[

Question Number : 133 Question Id : 64635013276 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Roles and duties of curator include knowhow of
(a) Preventive Conservation

(b) Orgamzing Extibition

(¢} Restoration and Conservation

(d) Accessioning

Which of following are true?

ek
.

(@), (b), (c), (d)
2. (b),(c)(d
3. (a), ()@@
4. (a), () (0

Options:

64535052227, 1
4535052228, 2
64535052229, 5
64535052220, 4

Question Number : 133 Question Id : 64635013276 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (a), (), (c), (d)
2. (b),(0).(d
3. (2),(d),(d)
4. (a), (b),(c)

Options:

64535052227, 1
64535052228, 2
E4E35052229. 2
4535052220 4

Question Number : 134 Question Id : 64635013277 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II :

List-I List-1I
(Extinguisher Type) (Class of Fire)
(a) Wet Chemical (1) Class B, Electrical
(b) Dry Powder (i) Class A,B,C,D
(¢) Carbon dioxide (1) Class A, F
(d) Water (iv) Class A

Choose the correct option from those given below :

L. (a)-(1); (B)—1); (c){iv); (d)-(in1)
2. (a)-@); (0)v); (o)-id); (d)-(1)
3. (a)-(v); (b)-(u); (c)-(u); (1)

4. (a-i); (b)-(); (©-1); (d)-Qv)
Options:
64535052231,
64535052232,
64535052233,
E4AE3E052224,

[ N

Question Number : 134 Question Id : 64635013277 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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I (a)-Q1); (0)-1); (Owv); (d)m)
2. (a)-(); (~v); (o)-(t); (D))
3. (a)-Qv); (b)-(u); (e)-u); (1)
4. (a)-(ui); (b)-(w); ()-1); (d)-av)

Options:

64535052231, 1
64535052232 2
64535052233 2
E4E35052234 4

Question Number : 135 Question Id : 64635013278 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A museum may collect by
(a) Gift
(b)  Accepting seized objects
(¢) Plundering archaeological sites
(d) Bequest
Choose the correct option from those given below :
1. (a), (b), (c) and (d)
2. (@), (d)and(c)
3.  (a)and (d)
4. (b)and (c)
Options:
64635052235, 1
64635052236, 2

BAE535052237. 3
64535052238, 4

Question Number : 135 Question 1d : 64635013278 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. (a), (b), (c) 3R (d)

2. (a), (b) IR (c)

3. (a) 3R (d)

4. (b) 3R ()

Options:

64535052235, 1
64535052236, 2
E4E35052227. 2
45350522328 4

Question Number : 136 Question Id : 64635013279 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The definition of Intangible Cultural Heritage incorporates
(a) Practices

(b) Cultural Spaces

(¢) Museums

(d) Archives

Choose one of the following options :

. (a), (b),(c)and(d)

2. (b)and (d)
3. (a)and(c)
4. (a)and (b)

Options:

64535052239, 1
64535052240, 2
64835052241, 2
E4E35052242. 4

Question Number : 136 Question Id : 64635013279 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L. (a), (b),(0) AR (@)
2. (b) 3R ()
3. (a) 3R (c)
4. (a) 3R (b)

Options:

45350522359 1
64535052240, 2
64535052241, =
64535052242 4

Question Number : 137 Question 1d : 64635013280 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Importance of Diorama in Museum galleries 1s
(a) to emphasize a particular object
(b) to depict total perspective of a collection
(¢c) to give perspective to natural history specimen
(d) to dramatize exhibition
Choose the correct option :
1. (&), (b), (c)and (d)
2. (a), (b)and(c)
3. (b)and(d)

4. (c)and (d)

Options:

64535052243, 1
E4E35052244 2
64535052245, 5
4535052246, 4

Question Number : 137 Question Id : 64635013280 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35052243. 1
E4E35052244 2
64535052245, o
4535052246, 4

Question Number : 138 Question Id : 64635013281 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Creation of exhibition in a museum involves

(a) Conceptualization

(b) Choosing the pertinent collection

(¢) Orgamzing museum education workshop
(d) Organizing outreach education programmes

Choose one of the following options :

1. (&), (b), (c) and (d)
2. (ayand(c)
3. (a)and(b)
4. (byand(d)

Options:

64535052247, 1
64535052248, 2
4535052249 2
4535052250, 4

Question Number : 138 Question Id : 64635013281 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535052247, 1
64535052248, 2
E4E35052249. 3
EAE35052250. 4

Question Number : 139 Question Id : 64635013282 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Visitor studies in a museum 1s important for efficiently conducting
(a) Exhibition

(b) Education

(¢) Collection

(d) Conservation

Choose one of the following options :

1. (b),(c)and (d)
2. (a)and(b)
3. (a), (b)and(c)
4. (b)and (d)

Options:

64635052251 1

64635052252 2

64535052253, 3
64535052254, 4

Question Number : 139 Question Id : 64635013282 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835052251, 1
E4E35052252. 2
64535052252,
64535052254 4

Question Number : 140 Question Id : 64635013283 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Interpretation in a museum denotes
(a) Multiple narrative

(b) Varied Experiences

(¢) Instruction and Information
(d) Facts and figures

Choose one of the following options :

—_—
"

(a), (0), (¢)

2. (a) ), ()@
3. (a),®

4. (b))

Options:

64535052255, 1
64535052256, 2
64535052257, 2
E4E35052258. 4

Question Number : 140 Question Id : 64635013283 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
4535052255, 1

EAE35052256. 2
BAE535052257. 3
E4E535052258. 4

Question Number : 141 Question 1d : 64635013284 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II :

List-1 ListI
{(Museums) (Setting up Dates)
(a) Ashmolean Museum 1) 1793
(b) The Louvre (1) 1683

(¢c) Victoria and Albert Museum  (i1) 1870
(d) The Metropolitan Museum (iv) 1952

Choose the correct option from those given below :

L (a)-Q); (B)—1); (o)1); (d)-(v)
2. (i), (DH1); (0)—v); (dD)-id)
3. (a)-Qv); (b)-(u); (c)-(u); (d)-()

4. (a)y-(u); (b)-(v); ()-(); (1)

Options:
4535052259, 1

EAE35052260. 2
EA535052261. 3
BAE3505226%. 4

Question Number : 141 Question 1d : 64635013284 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 B GE-11 & gHfed Sifon
-1 a1

(HIRTe) (RO 7 )
(a) SHAITIE SUgEd (i) 1793
(b) T (i) 1683
(¢) fFifan ok s dueea (i) 1870
(d) g ACieca SUgTed (iv) 1952
o MU fAeel H @ 9E TR &1 99 Do ;

L (a)y-(); (b)-u); (¢)-(m); (d)-(v)
2. (a-u); (b)—1); (¢)~(1v); (d)-()
3. (aaw); (b)-(u); (c)-(); (D))
4. (a-(m); (D)-av); (¢)-Q); (d)~1)

Options:

64535052259, 1
64535052260, 2
64535052261, 2
4535052262, 4

Question Number : 142 Question Id : 64635013285 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List-II :

List-I List-II

(a) The National Museum of Science and (1) 1787
Industry, London

(b) The Philadelphia Zoological Garden (1) 1976
(¢) The Indian Botamc Garden, Kolkata (1) 1854

(d) National Air and Space Museurn, av) 1928
Washington

Choose the correct option from those given below :
1. (a)-(u); (b)-v); (e)-(m); (d)—1)
2. (a)(v); (b)y-(u); (c)-); (d)—11)
3. (a)ui); (b-); (e)«1); (d-v)
4. (a)-Q); (b)—m); (¢)v); (d)—(u)

Options:

64535052263, 1
64535052264, 2
E4E35052265. 2
4535052266, 4

Question Number : 142 Question Id : 64635013285 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 31 TH-11 | e S

a1 a1
(2) &Ye T i UsY WS gsk, () 1787

g
(b) 3 frarsiara SeiTaiema e (i) 1976
() T 3fEuarRe MmN, Haem (i) 1854
(d) 0 TR TS T9 Jioms, iR (iv) 1928
feu e el & 9 9 ST @1 78 S

L. (a)-(); (b)-Qv); (¢)-(u); (d)—1)
2. (a)-(v); (b)(ii); ()1 (Dii)
3. (a)-(id); (b)) (o)~(i); (d)—v)
4. (@-@); (b)-); (¢)~{1v); (d)-(1)

Options:

64535052263, 1

64535052264, 2

64535052265, 3
64535052266, 4

Sub-Section Number: 2
Sub-Section 1d: 646350624
Question Shuffling Allowed : Yes

Question Id : 64635013286 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (143 to 146)
Cuesticon Label | Comprehension

Looking at the planning for the Great Exhibition at the Crystal Palace in London in 1851, we
discover that contrary to our behef the IMAX theatres, ride simulators and virtual reality
exhibits are ‘the latest thing’, exhibition developers have proposed special effects and
advanced exhibition technology to attract and educate the public for well over a century.
Charles Babbage the creator of the early computer, the Different Engine was also scientific
adviser to the Great Extubition of 1851.

Sub questions



Question Number : 143 Question Id : 64635013287 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Exhibition developers of ‘the Great Exhibition® of 1851 proposed special effects and
advanced exhibition technology to

—
"

attract and educate the public

2. attract networking with museums

3.  promote conservation of works of art
4. earn more revenue from the exhibition

Options:

64535052267, 1
E4E35052268. 2
4535052269 2
4535052270, 4

Question Number : 144 Question Id : 64635013288 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Venue of the Great Exhibition was

1.  Buckingham Palace, London

2.  Kensington Palace, London

3.  Chelsea Garden, London

4. Crystal Palace, London

Options:

64535052271, 1
64535052272 2
E4E350522732. 2
4535052274 4

Question Number : 145 Question Id : 64635013289 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The Great Exlibition was held in the vear

1. 1857
2. 1831
3. 1872
4. 1757

Options:

64835052275, 1
E4E35052276. 2
4535052277, 5
4535052278, 4

Question Number : 146 Question Id : 64635013290 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“The Different Engine’ was

1.  First Locomotive

2. Early Computer

3.  Basic Search Engine

4. Primitive Robot

Options:

64535052279, 1
64535052280, 2
64535052281, 2
E4E35052282. 4

Question Id : 64635013286 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (143 to 146)
Cuestion Label © Comprehension



1851 H footed UTY, T | AT I Tieaw= St 9o &1 S8 U §F J1d oidl ¢ [ gaR
4RuT fe IMAX Rucd, Tgs Rmged ik gdsm Raiferd vexffmt —dqan e & @ ffvda
vt fAafarei 3 ALy ok snyfe v ae-ie veariad @ € /e g/ te Td) 9 surer ugd
¥ ST B ensiva ok Rifér fan o1 w1 31 I I3 o ‘< fRwe m-oRfYe SR &
fAafare’, 1851 @t A ufidfaw= & e gaeer i 4|

Sub questions

Question Number : 143 Question 1d : 64635013287 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

1851 @ Uc UfRTiaR= & Fatarsit = R iR enyfe Vet o+ &I vdiad [&arg
1. SFaI® s SR R 3 & fore
2. Hfwaw H Scaldn B el e & e
3. B! axg3l & G0 Hi gl o & AU
4. VERH! QST Hel & g

Options:

4835052267, 1
E4E350522E8. 2
64535052269, 5
4535052270, 4

Question Number : 144 Question Id : 64635013288 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e ORISR &1 T U
1. of$uHUag, dgT

2. HRITTe OO, dcH
3. IEd e, e
4. Trwatey dea

Options:
E4E2E052271.1

EAB3IS052272. 2
BAE35052273. 3
BAE35052274. 4

Question Number : 145 Question 1d : 64635013289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



% U uftiaRe f s & @ mit?
. 1857
2. 1851
3. 1872

4. 1757
Options:
645350522751
64535052276, 2
64535052277, 3
64G3505227E. 4

Question Number : 146 Question Id : 64635013290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T fewmie 3fo saT un
1. Ugarammicd
2. WRIUS R
3. UMY O gfe
4. 3 IS &
Options:

E4E35052279. 1
64535052280, 2
64535052281, 3
E4535052282. 4

Sub-Section Number: 3
Sub-Section 1d: 646350625
Question Shuffling Allowed : Yes

Question Id : 64635013291 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (147 to 150)
Cuesticon Label | Comprehension

“Showplace for the idea of technological progress “value free’ playground for scientific
exploration, or lively forum for learming, controversy and the search for solutions—each of
these 1s a scenario for a contemporary Science Museum.”

Sub questions



Question Number : 147 Question Id : 64635013292 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Showplace for the idea of technological progress’ is being referred for
1.  Natural History Museums
2. Digital Mediums
3. Botanic Gardens

4. Science Museums

Options:
435052253 1

EAE35052284. 2
EAE35052285. 3
EAE35052286. 4

Question Number : 148 Question Id : 64635013293 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Play-ground for scientific exploration” hints at
(a) Static displays

{(b) Dynamic displays

(c) Museums as platform for exploration

(d) Understanding science through exhibitions

Choose one of the following options :

L. (a),(0),(c), (d)
2. (b),(),(d
3. (a),(),()
4. (), (0), (D

Options:

64535052287, 1
64535052288, 2
64535052289 2
E4E35052290. 4

Question Number : 149 Question Id : 64635013294 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

‘Lively forum for learning” is being used to describe
1. Secience Museums
2. Children’s Museum
3.  Interpretation Centres

4. Exploratoriums
Options:
64835052291, 1
64835052292, 2
64635052293, 3
64635052294, 4

Question Number : 150 Question Id : 64635013295 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

“For learming, controversy and search for solutions” signifies

1. amuseum for exploring, questioning and discovering solutions

b~

a museum for creating controversies
3.  astatic museum

4. a museum devoid of narratives

Options:

64535052295, 1
64535052296, 2
64835052297, 2
4535052298, 4

Question Id : 64635013291 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (147 to 150)
Cuesticon Label | Comprehension

do-ie: Qe & g mexl= =F, d9~e olen & fau 7o gea =@ a1 9e= & fou sidd 159,
faare 3R 5e & Go—ude T aw anyfie ReF Jueed o gxfd 2|

Sub questions

Question Number : 147 Question Id : 64635013292 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



doitet [ & fog vew= we 3 siftma 8
. UTpia® gider Suerad
2. fefoed aram
3. diefe mEA

4. a9 SugEd

Options:

4635052283, 1
64535052284, 2
64535052285, 2
64535052286, 4

Question Number : 148 Question 1d : 64635013293 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘91 udien & forg we g=fan 8
(@ RRyeIH
(b) S ve=H
(c) WURBTEI—UIEU & wichiH & &9 H
(d) veRl % grI Ay & gwgH
ol IR BT 97 Bifeg :
L. (&), (), () (@
2. (0),(0),(d)
3. (@), (). (o)
4. (a), (b),(d)

Options:

64835052287, 1
E4E35052288. 2
64535052289, o
64535052290 4

Question Number : 149 Question Id : 64635013294 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘A= & Sigd #2° &1 van Fafafed d 9 oo 99 & fore foan orar 82
1. a9 guge

2. g SUgag

3. A D PG

4. UYMW HT

Options:

64635052291, 1
64535052292, 2
64535052293 2
64835052294 4

Question Number : 150 Question Id : 64635013295 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

g & ferg, faaTe ofk ga 1 @ior Tovd a1 § i
1. o, fER o 50 31 @ & fog ue SugTad
2. faarg Rfa s & fu gem
3. Ue RRE YR
4. U= & &9 s guged

Options:
E4E350522495. 1

EAE35052236. 2
EAE35052297. 3
E4E350522398. 4



